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1.A retail customer has been using a tool that encrypts data-at-rest with symmetric encryption to meet
PCI-DSS requirements. However they have discovered through an audit that they lack key management
procedures.

Which product can they use to immediately address this procedural gap?

A. CPACF

B. LSMFT

C. RACF

D. EKMF

Answer: C

2.Which is the maximum number of links for each coupling link type supported on a z13 with one CPC
drawer?

A. 20 ICA, 16 Infiniband 12X, 8 Infiniband 1X

B. 20 ICA, 16 Infiniband 12X, 16 Infiniband 1X

C. 20 ICA, 8 Infiniband 12X, 4 Infiniband 1X

D. 20 ICA, 8 Infiniband 12X, 16 Infiniband 1X

Answer: A

3.A customer currently has a zEC12 with one book and is upgrading to a z13.

Left unchanged, which of the following configuration options will require them to purchase a second z13
CPC drawer?

A. 10HCA3-O 12X IFB Links

B. 2 carry forward I/O Drawers and 2 HCA3-O fanouts

C. 20 total processors (Combination of GCPs, zlIPs, IFLs and ICFs)

D. 6 System Assist Processors

Answer: C

4.An IBM z Systems is concerned about the re-occurring costs of the software licenses. A preliminary
analysis suggested they can save money by off-loading workloads from the z Systems to the distributed
platform.

Which is the most suitable group needed to demonstrate to the client they might be making the wrong
choice?

A. The Cloud Center of Excellence

B. The Eagle Team

C. The Oracle Center of Competency

D. The Tiger Team

Answer: B

5.Which of the following IBM solutions includes the options of automated provisioning and de-provisioning
of virtual machines in a z Systems cloud environment?

A. LinuxONE

B. Control Desk

C. Unified Resource Manager

D. EndPoint Manager for Server Automation
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Answer: D
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